
4936 4936.5 4937 4937.5 4938
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

5803

5803.5

5804

5804.5

5805

5805.5

5806

5806.5

5807

ru
n

run:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5805}



4936 4936.5 4937 4937.5 4938
cyclenum

71−

70.5−

70−

69.5−

69−

us
l_

1X
usl_1X:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

3−

2.5−

2−

1.5−

1−

us
l_

4a
Y

usl_4aY:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

76.5

77

77.5

78

78.5

us
l_

4e
X

usl_4eX:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

21.5

22

22.5

23

23.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

49−

48.5−

48−

47.5−

47−

us
l_

12
X

usl_12X:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

5803

5803.5

5804

5804.5

5805

5805.5

5806

5806.5

5807

ru
n

run:cyclenum {run == 5805}



4936 4936.5 4937 4937.5 4938
cyclenum

106.4−

106.2−

106−

105.8−

105.6−

105.4−

105.2−

105−

104.8−

104.6−

104.4−

104.2−

us
r_

1X

usr_1X:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

228.6

228.8

229

229.2

229.4

229.6

229.8

230

230.2

230.4

230.6

230.8

us
r_

4e
X

usr_4eX:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

14

14.2

14.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

45−

44.5−

44−

43.5−

43−

us
r_

12
X

usr_12X:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

5803

5803.5

5804

5804.5

5805

5805.5

5806

5806.5

5807

ru
n

run:cyclenum {run == 5805}



4936 4936.5 4937 4937.5 4938
cyclenum

12059.5

12060

12060.5

12061

12061.5

us
l_

co
il1

usl_coil1:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

2492.5

2493

2493.5

2494

2494.5

us
l_

co
il3

usl_coil3:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

5344

5344.5

5345

5345.5

5346

us
l_

co
il4

usl_coil4:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

539

539.2

539.4

539.6

539.8

540

540.2

540.4

540.6

540.8

541

541.2

us
l_

co
il6

usl_coil6:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

16010.2

16010.4

16010.6

16010.8

16011

16011.2

16011.4

16011.6

16011.8

16012

16012.2

16012.4

us
l_

co
il7

usl_coil7:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

5803

5803.5

5804

5804.5

5805

5805.5

5806

5806.5

5807

ru
n

run:cyclenum {run == 5805}



4936 4936.5 4937 4937.5 4938
cyclenum

16719.4−

16719.2−

16719−

16718.8−

16718.6−

16718.4−

16718.2−

16718−

16717.8−

16717.6−

16717.4−

16717.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

2778−

2777.5−

2777−

2776.5−

2776−

us
r_

co
il3

usr_coil3:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

4825.2

4825.4

4825.6

4825.8

4826

4826.2

4826.4

4826.6

4826.8

4827

4827.2

4827.4

us
r_

co
il4

usr_coil4:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

915.5

916

916.5

917

917.5

us
r_

co
il6

usr_coil6:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

32390

32390.2

32390.4

32390.6

32390.8

32391

32391.2

32391.4

32391.6

32391.8

32392

32392.2

us
r_

co
il7

usr_coil7:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

5803

5803.5

5804

5804.5

5805

5805.5

5806

5806.5

5807

ru
n

run:cyclenum {run == 5805}



4936 4936.5 4937 4937.5 4938
cyclenum

287−

286.5−

286−

285.5−

285−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

20−

19.5−

19−

18.5−

18−1X
_c

oi
l3

1X_coil3:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

299.6

299.8

300

300.2

300.4

300.6

300.8

301

301.2

301.4

301.6

301.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

249.5−

249−

248.5−

248−

247.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

37.5−

37−

36.5−

36−

35.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

188

188.5

189

189.5

190

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5805}



4936 4936.5 4937 4937.5 4938
cyclenum

217.6

217.8

218

218.2

218.4

218.6

218.8

219

219.2

219.4

219.6

219.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

85.5

86

86.5

87

87.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

7−

6.5−

6−

5.5−

5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

232

232.5

233

233.5

234

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

40.5

41

41.5

42

42.5

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

4.5−

4−

3.5−

3−

2.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5805}



4936 4936.5 4937 4937.5 4938
cyclenum

235−

234.5−

234−

233.5−

233−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

82.4−

82.2−

82−

81.8−

81.6−

81.4−

81.2−

81−

80.8−

80.6−

80.4−

80.2−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

3.5−

3−

2.5−

2−

1.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

2.5

3

3.5

4

4.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

471−

470.5−

470−

469.5−

469−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5805}

4936 4936.5 4937 4937.5 4938
cyclenum

5803

5803.5

5804

5804.5

5805

5805.5

5806

5806.5

5807

ru
n

run:cyclenum {run == 5805}
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